Objective: Add and subtract one-digit and two-digit numbers to 20, including zero

Fluency & Precision

Can you solve the number sentence using the number line and number pieces?
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Objective: Add and subtract one-digit and two-digit numbers to 20, including zero Fluency & Precision

Can you solve the number sentence using the number line and number pieces?

0|0|0|0|O
0|0|0|0|O

O|0|O

(®)
5 20-3= 17
(®)

15— 4 = 11

O|0|0O|0|O
(o) [e][e][e][e)

18-6= 12

O|0]|0O|0]|O
O|0]|0|0]|O

[o][el[e] [¢)

O|0O|0]O

y 3

16-5= 11

(o] [el[e][e][e)
0O]|0]|0|O|O

O|0|0
(0] (0] [®)

masterthecurriculum.co.uk




